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lkekU; lkekU; lkekU; lkekU; v/;;u & izFkev/;;u & izFkev/;;u & izFkev/;;u & izFke    
Time: Three Hours 

Maximum Marks: 100 
 

INSTRUCTIONS/ funsZ’kfunsZ’kfunsZ’kfunsZ’k    
1. The test booklet contains total 100 questions. Each question carries 1 (one) mark.  

 iz'ui= esa dqy 100100100100 iz’u gSa rFkk izR;sd iz’u 1111 vad dk gSA  
2. Candidates shall be required to attempt all 100 questions.  

 lHkh 100100100100 iz’u gy djus vfuok;Z gSaA  
3. No negative marking.  

 _.kkRed vad ns; ugha gSaA 
4. On receipt of test booklet, the candidate should immediately check it and ensure that it 

is complete in all respect. Discrepancy, if any, should be reported by the candidate to 

the invigilator within 10 minutes of receiving the test booklet.  

 Nk= iz’u cqdysV izkIr djrs gh lcls igys mlds dqy i`"B rFkk iz’u la[;k tk¡p dj ys] ;fn iz’u 
i= esa dksbZ =qfV vFkok dVk&QVk gks rks rqjUr i;Zos{kd dks lwfpr djkosaA 

5. The answer sheet is in the form of OMR answer sheet. Candidates should blacken/blue 

ball pen the circle corresponding to correct answer.  

 Nk= dks lHkh iz’uksa ds mÙkj OMR 'khV esa nsus gSaA Nk= dks lgh mÙkj ds dkWye dks uhys isu@dkys 
isu ls xgjk dkyk@uhyk djuk gSA 

6. While answering each question, candidate should blacken OMR properly with 

black/blue ball pen as per instruction printed on the OMR sheet.   

 Nk= dks mÙkj nsrs le; OMR 'khV ij fn;s x;s funsZ’kksa dks /;ku esa j[krs gq, uhys isu vFkok dkys 
isu ls gh dkWye dks dkyk@uhyk djuk gSA 

7. For each question only one circle should be blackened/blue. If more than one circle is 

found marked, the question will be treated unattempted.  

 Nk= dks izR;sd iz’u dk mÙkj ,d dkWye esa gh dkyk@uhyk dj nsuk gSA ;fn ,d ls vf/kd 
dkys@uhys xksys cuk;s rks og mÙkj ugha i<+k tk,xkA 

8. Candidate shall be required to deposit OMR answer sheet with the invigilator.   

 Nk= dks OMR 'khV mÙkj nsus ds i'pkr~ i;Zos{kd dks tek djkuh vfuok;Z gSA 
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1. What is the geographical area of 

Rajasthan?  

(A) 4,32,239 km.  

(B) 3,42,239 km. 

(C) 2,42,239 km.  

(D) 2,32,239 km. 
 

1. jktLFkku dk HkkSxksfyd {ks=Qy fdruk gS\    
(A) 4]32]239 fdeh- 
(B) 3]42]239 fdeh- 
(C) 2]42]239 fdeh-  

(D) 2]32]239 fdeh-  
    

2. The maximum part of Rajasthan is - 

(A) Desert  

(B) Plain  

(C) Hilly  

(D) Plateau  
 

2. jktLFkku dk lokZf/kd Hkkx gS &    
(A) e#LFkyh;  

(B) eSnkuh  
(C) igkM+h  

(D) iBkjh  
    

3. In which part of Rajasthan Vindhya 

Plateau is extended?  

(A) South  

(B) South – West  

(C) South – East  

(D) North – East  
 

3. jktLFkku ds fdl {ks= esa foU/; iBkj dk 
foLRkkj gS\    
(A) nf{k.kh  

(B) nf{k.k & if’pe 
(C) nf{k.k & iwoZ  

(D) mÙkj & iwoZ  
    

4. The desert region of Rajasthan is part of 

which ancient land mass geologically - 
(A) Arabian Sea  
(B) Bay of Bengal  
(C) Indian Ocean  
(D) Tethys Sea  

 

4. jktLFkku dk e#LFkyh; izns’k Hkw & xfHkZd ǹf"V 
ls fdl izkphu Hkw[k.M dk Hkkx gS\    
(A) vjc lkxj  

(B) caxky dh [kkM+h  
(C) fgUn egklkxj  
(D) VsfFkl lkxj  

    

5. ‘Mavath’ in Rajasthan is related to - 
(A) Western Disturbance 
(B) South West Monsoon 
(C) Cyclone in Bay of Bengal 
(D) North East Monsoon  

 

5. jktLFkku esa ^ekoB^ lacaf/kr gS &    
(A) if’peh fo{kksHkksa ls  

(B) nf{k.kh & if’peh ekulwu ls  
(C) caxky dh [kkM+h ds pØokrksa ls  
(D) mÙkjh iwohZ ekulwu ls  

    

6. Sewan Grass is found in which District? 

(A) Sawai Madhopur  

(B) Barmer 

(C) Jodhpur  

(D) Jaisalmer  
 

6. ^lso.k ?kkl^ fdl ftys esa foLr̀r :i ls mxrh 
gS\    
(A) lokbZ ek/kksiqj  

(B) ckM+esj  
(C) tks/kiqj  

(D) tSlyesj  
    

7. The use of which is the lasting solution 

of the problem of salty and alkaline soil 

is- 

(A) Rock phosphate 

(B) Gypsum 

(C) Fertilizer  

(D) Urea  
 

7. ftldk mi;ksx feV~Vh dh yo.krk ,oa {kkjh;rk 
dh leL;k dk nh?kZdkyhu gy gS] og gS &    
(A) jkWd QkWLQsV  

(B) ftIle  
(C) [kkn  

(D) ;wfj;k  
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8. Where is the Copper mine in Rajasthan?  

(A) Jawar  

(B) Kolayat  

(C) Khetri  

(D) Gotan  
 

8. jktLFkku esa rk¡cs dh [kku dgk¡ gS\     
(A) tkoj esa  

(B) dksyk;r esa  
(C) [ksrM+h esa  

(D) xksVu esa 
    

9. Where the Tungston reserves are found 

in Rajasthan?  

(A) Degana  

(B) Dariba 

(C) Singhana  

(D) Sonu  
 

9. jktLFkku esa VaxLVu ds Hk.Mkj dgk¡ feyrs gSa\    
(A) Msxkuk  

(B) njhck  
(C) fla?kkuk  

(D) lksuw  
    

10. Meja Dam is built on which river?  

(A) Khari  

(B) Parvati  

(C) Kothari  

(D) Mansi  
 

10. estk cka/k dk fuekZ.k fdl unh ij gqvk gS\    
(A) [kkjh  

(B) ikoZrh  
(C) dksBkjh  

(D) ekulh  
    

11. On which river is Chuliya Waterfall 

situated?  

(A) Mahi  

(B) Chambal  

(C) Luni  

(D) Som  
 

11. jktLFkku esa pwfy;k tyizikr fdl unh ij gS\    
(A) ekgh  

(B) pEcy  
(C) ywuh  

(D) lkse  
    

12. In which district is Som Kamla Amba 

irrigation project located? 
(A) Dungarpur  
(B) Banswara 
(C) Chittorgadh  
(D) Udaipur  

 

12. lkse & deyk & vack flapkbZ ifj;kstuk fdl 
ftys esa fLFkr gS\    
(A) Mw¡xjiqj  

(B) ck¡lokM+k  
(C) fpÙkkSM+x<+  
(D) mn;iqj  

    

13. Indira Gandhi Canal Project receives 

water from which dam?  
(A) Jawai Dam  
(B) Harike Dam  
(C) Nangal Dam  
(D) Bhakra Dam  

 

13. bafnjk xk¡/kh ugj ifj;kstuk dks ikuh fdl cka/k 
ls feyrk gS\     
(A) tokbZ cka/k 
(B) gfjds cka/k 
(C) ukaxy cka/k 
(D) Hkk[kM+k cka/k 

    

14. Which is the latitude line which runs in 

the middle of India? 
(A) Tropic of Cancer   
(B) Equatorial Line 
(C) Tropic of Capricorn  
(D) None of these 

 

14. “kjr ds yxHkx e/; esa ls gksdj xqtjus okyh 
v{kka’k js[kk gS &    
(A) ddZ js[kk  

(B) fo"kqor js[kk  
(C) edj js[kk 
(D) buesa ls dksbZ ugha  
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15. Which is the Indian Island Group 

situated in Arabian Sea?  

(A) Andaman Nicobar 

(B) Lakshadweep  

(C) Maldive  

(D) None of these  
 

15. vjc lkxj esa fLFkr Hkkjrh; }hi lewg dkSu ls 
gSa\  
(A) v.Meku ,oa fudksckj  

(B) y{k}hi  
(C) ekynho  

(D) buesa ls dksbZ ugha  
    

16. The total area of India is approximately - 

(A) 32.8 lakh square km 

(B) 33.8 lakh square km 

(C) 34.8 lakh square km 

(D) 35.8 lakh square km 
 

16. Hkkjr dk {ks=Qy yxHkx gS &    
(A) 32-8 yk[k oxZ fdeh-  

(B) 33-8 yk[k oxZ fdeh-  
(C) 34-8 yk[k oxZ fdeh-  

(D) 35-8 yk[k oxZ fdeh-  
    

17. McMahon Line is the international line 

between India and - 

(A) Pakistan  

(B) Bangladesh  

(C) Nepal  

(D) China  
 

17. eSdegksu js[kk] Hkkjr vkSj nwljs ftl ns’k dh 
vUrjkZ"Vªh; lhek cukrh gS] og ns’k gS &     
(A) ikfdLrku  

(B) ckaXykns’k   
(C) usiky  

(D) phu  
    

18. The maximum coal producing state in 

India is - 

(A) Jharkhand  

(B) Orissa 

(C) Andhra Pradesh  

(D) Madhya Pradesh  
 

18. “kjr esa dks;ys dk lokZf/kd mRiknd jkT;  
gS &    
(A) >kj[k.M  

(B) mM+hlk  
(C) vka/kzizns’k  

(D) e/;izns’k  
    

19. Where is Digboi oil patch located?  

(A) Assam  

(B) Meghalaya  

(C) West Bengal  

(D) Maharashtra  
 

19. fMXcksbZ rsy {ks= dgk¡ fLFkr gS\     
(A) vle  

(B) es?kky;  
(C) if’pe caxky  

(D) egkjk"Vª 
    

20. Which is the most iron ore producing 

state in India?  
(A) Jharkhand  
(B) Chhattisgarh 
(C) Orissa  
(D) Bihar 

 

20. Hkkjr esa lokZf/kd ykSg v;Ld mRikfnr djus 
okyk jkT; gS &    
(A) >kj[k.M  

(B) NÙkhlx<+  
(C) mM+hlk  
(D) fcgkj  

    

21. In India maximum petroleum is 

produced in - 
(A) Gujarat  
(B) Bombay High  
(C) Assam  
(D) Rajasthan  

 

21. “kjr esa iSVªksfy;e dk lokZf/kd mRiknu gksrk 
gS &     
(A) xqtjkr esa  

(B) cECkbZ gkbZ esa  
(C) vle esa  
(D) jktLFkku esa  
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22. Approximate extension of Himalaya 

Mountain ranges is - 
(A) 500 km 
(B) 1500 km 
(C) 2500 km 
(D) 3500 km  

 

22. fgeky; ioZr Jà[kyk dk foLrkj yxHkx gS &    

(A) 500 fdeh-  

(B) 1500 fdeh-  
(C) 2500 fdeh-  
(D) 3500 fdeh-  

    

23. Which is the most ancient mountain 

range of India? 
(A) Himalaya  

(B) Satpura  

(C) Western Hills  

(D) Aravalli  
 

23. “kjr dh lcls iqjkuh ioZr Jà[kyk dkSu lh gS\    
(A) fgeky;  

(B) lriqM+k  
(C) if’peh ?kkV  

(D) vjkoyh  
    

24. The form of Indian Peninsula Plateau is - 

(A) Square  

(B) Round  

(C) Rectangular  

(D) Triangular  
 

24. “kjr ds izk;}hih; iBkj dh vkÑfr gS &     
(A) oxkZdkj  

(B) o`Ùkkdkj  
(C) vk;rkdkj  

(D) f=Hkqtkdkj  
    

25. Burzil pass is located in which state of 

india? 
(A) Jammu and Kashmir  

(B) Uttarakhand  

(C) Sikkim  

(D) Himachal Pradesh  
 

25. cqft+Zy njkZ Hkkjr ds fdl jkT; esa fLFkr gS\    
(A) tEeq&d’ehj  

(B) mÙkjk[k.M  
(C) flfDde  

(D) fgekpy izns’k  
    

26. Chhabra Thermal Power Centre is 

located in which district of Rajasthan?  

(A) Kota  

(B) Baran  

(C) Jhalawar  

(D) Sawai Madhopur  
 

26. NcM+k rkih; ÅtkZ dsanz jktLFkku ds fdl ftys 
esa fLFkr gS\    
(A) dksVk   

(B) ckjk¡  
(C) >kykokM+  

(D) lokbZ ek/kksiqj  
    

27. Where did cement production take place 

for the first time in Rajasthan?  
(A) Lakheri  
(B) Beawar  
(C) Jaipur  
(D) Sawai Madhopur  

 

27. jktLFkku esa izFke ckj lhesaV mRiknu dk dk;Z 
dgk¡ gqvk\    
(A) yk[ksjh  

(B) C;koj   
(C) t;iqj  
(D) lokbZ ek/kksiqj  

    

28. Which district in Rajasthan is famous for 

blue pottery? 

(A) Ajmer  

(B) Jodhpur  

(C) Jaipur  

(D) Bikaner  
 

28. jktLFkku dk dkSulk ftyk Cyw ikWVjh ds fy, 
izfl) gS\    
(A) vtesj  

(B) tks/kiqj  
(C) t;iqj  

(D) chdkusj   
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29. The place famous for Ajrak Print is - 

(A) Chittorgarh  

(B) Kota  

(C) Sanganer  

(D) Barmer  
 

29. vtj[k fizaV ds fy, izfl) LFkku gS &    
(A) fpÙkkSM+x<+  

(B) dksVk  
(C) lkaxkusj  

(D) ckM+esj  
    

30. Which enterprise is operated by 

Rajasthan Govt.?  

(A) Ganganagar Sugar Mills, 

Ganganagar 

(B) Hindustan Zinc Ltd., Udaipur  

(C) Salt Works, Didwana  

(D) Aravali Auto Vehicle Ltd. 

Alwar  
 

30. jkT; esa fLFkr dkSulk miØe dsanz ljdkj }kjk 
ifjpkfyr gS\    
(A) xaxkuxj 'kqxj feYl] xaxkuxj  

(B) fgUnqLrku ftad fyfeVsM] mn;iqj  
(C) lkYV oDlZ] MhMokuk  

(D) vjkoyh Lopkfyr okgu fyfeVsM] 
vyoj  

    

31. Which is known as Manchester of 

Rajasthan? 
(A) Kota  
(B) Jaipur 
(C) Bhilwara  
(D) Bundi  

 

31. jktLFkku dk esupsLVj fdls dgrs gSa\    
(A) dksVk 
(B) t;iqj  
(C) HkhyokM+k 
(D) cwanh  

    

32. Jaipur falls under which Railway zone?  

(A) Western Railway 

(B) South Railway  

(C) South – West Railway  

(D) North – West Railway  
 

32. t;iqj fdl jsYos t+ksu ds varxZr vkrk gS\    
(A) if’peh jsYos  

(B) nf{k.k jsYos  
(C) nf{k.k & if’pe jsYos  

(D) mÙkj & if’pe jsYos  
    

33. Ratanada Airport is situated in which 

district?   
(A) Jodhpur  

(B) Jaipur  
(C) Udaipur  
(D) Kota  

 

33. jkrkukM+k gokbZ vM~Mk fdl ftys esa fLFkr gS\    

(A) tks/kiqj  

(B) t;iqj  
(C) mn;iqj  
(D) dksVk  

    

34. Keshoraipatan cooperative Sugar Mill is 

located in which district of Rajasthan?  
(A) Kota  
(B) Bundi  
(C) Jhalawar  
(D) Chittorgarh  

 

34. ds’kksjk;ikVu lgdkjh 'kqxj feYl jktLFkku ds 
fdl ftys esa fLFkr gS\ 
(A) dksVk  

(B) cwanh  
(C) >kykokM+  
(D) fpÙkkSM+x<+  

    

35. Gulabpura, related to Cotton Industry, is 

in which district of Rajasthan?  
(A) Jaipur  
(B) Udaipur  
(C) Ajmer  
(D) Bhilwara  

 

35. lwrh oL= m|ksx ls lacaf/kr xqykciqjk jkTkLFkku 
ds fdl ftys esa gS\    
(A) t;iqj  

(B) mn;iqj  
(C) vtesj  
(D) HkhyokM+k  
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36. Mahindra Special Economic Zone(SEZ) 

is located in which district?  

(A) Ajmer  

(B) Alwar  

(C) Jaipur  

(D) Tonk  
 

36. efgUnzk fo’ks"k vkfFkZd {ks= ¼lst½ jktLFkku ds 
fdl ftys esa fLFkr gS\     
(A) vtesj  

(B) vyoj  
(C) t;iqj  

(D) Vksad  
    

37. Bank rate is the rate in which 

Commercial Banks - 

(A) Receive loans from Central 

Bank  
(B) Provide bill discount  
(C) Give loan to consumers  
(D) Receive deposits from 

consumers  
 

37. cSad nj og nj gS ftl ij O;kikfjd cSad &    

(A) dsanzh; cSad ls _.k ysrs gSa 

(B) fcyksa dks cV~Vk nsrs gSa  

(C) xzkgdksa dks _.k nsrs gaS 

(D) xzkgdksa ls tek ysrs gSa  
    

38. Which of the following is not the 

function of Central Bank?  

(A) Cash outsource  

(B) Credit generating  

(C) Last debtor  

(D) Preserving of cash of 

commercial Bank 
 

38. fuEu esa ls dkSulk dk;Z dsanzh; cSad dk ugha gS\    
(A) uksV fuxZeu  

(B) lk[k fuekZ.k 
(C) vafre _.knkrk  

(D) O;kikfjd cSadkas ds udn dks"kksa dk 
laj{k.k  

    

39. When was Reserve Bank of India 

established?  

(A) 1926  

(B) 1935 

(C) 1949  

(D) 1950  
 

39. “kjrh; fjtoZ cSad dh LFkkiuk dc gqbZ\    

(A) 1926  

(B) 1935 
(C) 1949 

(D) 1950  
    

40. Who does the work of calculating the 

National Income in India?  

(A) Planning Commission  

(B) National Survey Directorate  

(C) Ministry of Finance  

(D) Central Statistical Organisation  
 

40. “kjr esa jk"Vªh; vk; dh x.kuk dk dk;Z dkSu 
djrk gS\     
(A) ;kstuk vk;ksx  

(B) jk"Vªh; losZ{k.k funs’kky;  
(C) foÙk ea=ky;  

(D) dsanzh; lakf[;dh; laxBu  
    

41. Which area is prominent in the National 

Income of India?  

(A) Industrial area  

(B) Agricultural area  

(C) Service area  

(D) Construction area  
 

41. “kjr dh jk"Vªh; vk; esa fdl {ks= dh izeq[krk 
gS\     
(A) vkS|ksfxd {ks=  

(B) Ñf"k {ks=  

(C) lsok {ks=  

(D) fuekZ.k {ks=  
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42. Grant is - 

(A) lowering of Taxation  

(B) The sale of goods and services 

by govt. sector enterprises  

(C) To make available goods and 

services lower than the 

production cost by govt.  

(D) None of the above  
 

42. vuqnku gS &     
(A) djkjksi.k esa deh djuk  

(B) ljdkjh miØeksa }kjk oLrqvksa ,oa 
lsokvksa dk foØ;  

(C) ljdkj }kjk oLrqvksa ,oa lsokvksa dks 
mudh mRiknu ykxr ls de dher 
ij miYkC/k djkuk  

(D) buesa ls dksbZ ugha  
    

43. In which year was the Direct Beneficiary 

Transfer (DBT) scheme launched?  

(A) 2013 

(B) 2014 

(C) 2015 

(D) 2016 
 

43. izR;{k ykHk gLrkarj.k ¼Mh-Ckh-Vh-½ ;kstuk fdl 

o"kZ ls izkjaHk gqbZ\     

(A) 2013 

(B) 2014 

(C) 2015 

(D) 2016  
    

44. Inflation affects the Income of people - 

(A) It increases the real income of 

people.  

(B) It decreases the real income of 

people.  
(C) It  decreases the monetary  

income of people.  

(D) It does not affect income.  
 

44. eqnzkLQhfr dk yksxksa dh vk; ij izHkko gksrk  
gS &    
(A) ;g yksxksa dh okLrfod vk; esa of̀) 

dj nsrh gSA  

(B) ;g yksxksa dh okLrfod vk; de dj 
nsrh gSA 

(C) ;g yksxksa dh ekSfnzd vk; de dj 
nsrh gSA 

(D) bldk vk; ij izHkko ugha iM+rk gSA 
    

45. It happens in the state of inflation - 

(A) Price hike in the price of goods 

and services  

(B) Decline in the price of currency  

(C) Increase in production  

(D) All of the above  
 

45. eqnzkLQhfr dh fLFkfr esa gksrk gS & 

(A) oLrqvksa o lsokvksa ds ewY;ksa esa 

vR;kf/kd òf)  

(B) eqnzk ds ewY; esa vR;kf/kd fxjkoV  
(C) mRiknu esa of̀)  

(D) mDr lHkh  
    

46. Which of the following growth rate helps 

in controlling the inflation?  

(A) Cash Reserve Ratio (CRR) 

(B) Bank rate and interest rate  

(C) Statutory Liquidity Ratio  

(D) All of these  
 

46. fuEu esa ls fdl nj esa of̀) djus ls eqnzkLQhfr 
ij fu;a=.k esa lgk;rk feyrh gS\    
(A) udn vkj{k.k vuqikr ¼lh-vkj-vkj½ 
(B) cSad nj ,oa C;kt nj 
(C) lkafof/kd rjyrk vuqikr              

¼,l-,y-vkj½ 
(D) mDr lHkh  
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47. Main objectives of Public Rationing 

System - 
(A) To ensure the availability of 

necessary consumer goods.  
(B) To stabilise the prices of 

necessary consumer goods. 
(C) To provide food security to 

weaker sections.  
(D) All of these  

 

47. lkoZtfud forj.k iz.kkyh ds eq[; mn~ns’;  
gSa&    
(A) vko’;d miHkksDrk oLrqvksa dh 

miyC/krk lqfuf’pr djukA  

(B) vko’;d miHkksDrk oLrqvksa ds ewY;ksa 
dks fLFkj djukA  

(C) vkfFkZd :i ls detksj oxksZa dks 
[kkn~; lqj{kk iznku djukA  

(D) mDr lHkh  
    

48. At the rate at which the Reserve Bank 

gives short term loan to other banks in 

additional collateral, is called -  

(A) Bank rate  

(B) Repo rate  

(C) Reverse repo rate  

(D) Cash Treasury ratio 
 

48. ftl nj ij fjtoZ cSad vius }kjk iwoZ fu/kkZfjr 
izfrHkwfr;ksa dh tekur ij cSadksa dks vYidkyhu 
_.k nsrk gS] mls dgrs gSa &    
(A) cSad nj  

(B) jsiks nj  
(C) fjolZ jsiks nj  

(D) udn dks"kkuqikr  
    

49. The financial year of Indian Reserve 

Bank is - 

(A) January – December  

(B) April – March  

(C) July – June  

(D) October – September  
 

49. “kjrh; fjtoZ cSad dk ys[kk o"kZ gS &    
(A) tuojh & fnlacj  

(B) vizSy & ekpZ  
(C) tqykbZ & twu  

(D) vDVwcj & flrEcj  
    

50. Who for the first time evaluated National 

Income in India?   
(A) Dadabhai Naoroji 
(B) P.C. Mahalanobis 
(C) Dr. V.K.R.V. Rao  
(D) National Sample Survey 

Organisation  
 

50. “kjr esa jk"Vªh; vk; dk loZizFke vkdyu 
fdlus fd;k\     
(A) nknkHkkbZ ukSjksth  

(B) ih- lh- egkyUkksfcl  
(C) MkW- oh- ds- vkj- oh- jko  
(D) jk"Vªh; izfrn’kZ losZ{k.k laxBu  

    

51. Who first found the Archaeological site 

Kalibanga?  
(A) Daya Ram Sahni  
(B) Amalananda Ghosh 
(C) R.D. Banerji 
(D) Aurel Stein  

 

51. iqjkrkfRod LFky dkyhcaxk dh [kkst loZizFke 
fdlus dh\     
(A) n;kjke lkguh  

(B) veykuan ?kks"k  
(C) vkj-Mh- cuthZ 
(D) vkWjsy LVhu  

    

52. Famous archaeological place for copper 

equipments  - 

(A) Kalibanga  

(B) Ahad  

(C) Ganeshwar  

(D) Bairat  
 

52. rkez midj.kksa ds fy, izfl) iqjkrkfRod LFky 
gS &     
(A) dkyhcaxk  

(B) vkgM+ 
(C) x.ks’oj  

(D) cSjkB  
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53. The Chauhan emperor who established a 

Sanskrit school in Ajmer - 

(A) Arnoraj  

(B) Govindraj  

(C) Prithviraj III 

(D) Vigrahraj IV 
 

53. fdl pkSgkuoa’kh 'kkld us vtesj esa laLÑr 
fo|ky; dh LFkkiuk dh\    
(A) v.kksZjkt  

(B) xksfoanjkt  
(C) i`Fohjkt r`rh;  

(D) foxzgjkt prqFkZ  
    

54. Great Rajput King who built and 

renovated maximum number of forts in 

Rajasthan - 

(A) Maharana Kumbha  

(B) Maharana Sanga  

(C) Maharana Pratap  

(D) Maharana Raj Singh  
 

54. og izfl) jktiwr jktk ftlus jktLFkku esa 
lokZf/kd nqxksZa dk fuekZ.k ,oa th.kksZ)kj             
djok;k &    
(A) egkjk.kk dqaHkk  

(B) egkjk.kk lkaxk 
(C) egkjk.kk izrki  

(D) egkjk.kk jktflag 
    

55. Gurjar Pratihar ruler who possessed the 

title of ‘Adivarah’ and ‘Prabhas’ - 

(A) Vatsaraj  

(B) Nagbhatt I 

(C) Mahendra Pal I  

(D) Mihirbhoj  
 

55. ^vkfnojkg^  o ^izHkkl* dh mikf/k fdl xqtZj 
& izfrgkj 'kkld us /kkj.k dh\     
(A) oRljkt  

(B) ukxHkV~V izFke 
(C) egsanziky izFke  

(D) fefgjHkkst  
    

56. Famous warrior Jeta  and Kumpa was 

associated with which ruler?   

(A) Maldev  

(B) Chandrasen  

(C) Rao Jodha  

(D) Amar Singh Rathore  
 

56. izfl) ;ks)k tSrk & dqaik fdl 'kkld ls 
lacaf/kr gSa\     
(A) ekynso  

(B) pUnzlsu  
(C) jko tks/kk  

(D) vej flag jkBkSM+  
    

57. Which battle was fought between Rana 

Sanga and Ibrahim Lodi?  

(A) Battle of Bayana  

(B) Battle of Khanwa  

(C) Battle of Khatoli  

(D) Battle of Gagron 
 

57. dkSu lk ;q) jk.kk lkaxk o bczkfge yksnh ds 
e/; gqvk\     
(A) c;kuk dk ;q)  

(B) [kkuok dk ;q)  
(C) [krkSyh dk ;q)  

(D) xkxjksu dk ;q)  
    

58. Which province did all the Rajput rulers 

of Rajasthan come under during Mughal 

Era?  

(A) Jaipur Province 

(B) Ajmer Province  

(C) Delhi Province  

(D) Malwa Province  
 

58. eqxydky esa jktLFkku ds lHkh jktiwr 'kkld 
dkSu ls lwcs ds varxZr vkrs Fks\     
(A) t;iqj lwck  

(B) vtesj lwck  

(C) fnYyh lwck  

(D) ekyok lwck  
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59. Which medieval ruler did effective 

reforms in Market System?   
(A) Alauddin Khilji 
(B) Firoz Tughlaq  
(C) Iltutmish  
(D) Ghiyasuddin Tughlaq  

 

59. fdl e/;dkyhu 'kkld us cktkj O;oLFkk esa 
izHkkoh lq/kkj fd;s\    
(A) vykmÌhu f[kyth  

(B) fQjkst rqxyd  
(C) bYrqrfe’k  
(D) x;klqn~nhu rqxyd  

    

60. The only Prajamandal of Rajasthan 

which is in Kolkata outside Rajasthan - 
(A) Jaipur  
(B) Bikaner  
(C) Jaisalmer  
(D) Jodhpur  

 

60. jktLFkku dk ,dek= iztkeaMy ftldh LFkkiuk 
jktLFkku ds ckgj dydÙkk esa gqbZ &    
(A) t;iqj  

(B) chdkusj  
(C) tSlyesj  
(D) tks/kiqj  

    

61. Who invited Vijay Singh Pathik for 

managing Bijoliya Farmers agitation?  
(A) Sadhu Sitaram Das  
(B) Nanji Patel  
(C) Thakri Patel  
(D) Manikya Lal Verma  

 

61. fctkSfy;k fdlku vkanksyu ds lapkyu ds fy, 
fot; flag ifFkd dks fdlus vkeaf=r fd;k\    
(A) lk/kq lhrkjke nkl 

(B) ukuth iVsy  
(C) Bkdjh iVsy  
(D) ekf.kD;yky oekZ  

    

62. The process of political integration of 

Rajasthan began in - 
(A) 1947 
(B) 1948 
(C) 1949 
(D) 1950 

 

62. jktLFkku ds jktuSfrd ,dhdj.k dh izfØ;k 
'kq: gqbZ &     
(A) 1947 esa  

(B) 1948 esa 
(C) 1949 esa  
(D) 1950 esa  

    

63. Who was made the Prime Minister of 

larger Rajasthan in 1949? 

(A) Heera Lal Shastri  

(B) Tikaram Paliwal  

(C) Jay Narayan Vyas  

(D) Manikya Lal Verma  
 

63. 1949 esa c̀gr jktLFkku dk iz/kkuea=h fdls 
cuk;k x;k Fkk\    
(A) ghjkyky 'kkL=h  

(B) Vhdkjke ikyhoky  
(C) t;ukjk;.k O;kl  

(D) ekf.kD;yky oekZ  
    

64. Which material was not used by the 

people of Indus Valley civilization?  
(A) Gold  
(B) Silver  
(C) Iron  
(D) Bronze  

 

64. flU/kq ?kkVh lH;rk ds yksx fdl /kkrq dk iz;ksx 
ugha djrs Fks\  
(A) lksuk  

(B) pk¡nh  
(C) yksgk  
(D) dk¡lk  

    

65. Which of the following is not the part of 

Vedas?  

(A) Sanhita  

(B) Upanishad  

(C) Aranyak  

(D) Puran  
 

65. fuEu esa ls dkSu osnksa dk vax ugha gS\     

(A) lafgrk  

(B) mifu"kn~  
(C) vkj.;d  

(D) iqjk.k  
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66. Who established the Maurya Dynasty 
(A) Chandragupta Maurya  
(B) Shrigupta  
(C) Ashok  
(D) Samudragupta  

 

66. ekS;Z oa’k dh LFkkiuk fdlus dh\     
(A) panzxqIr ekS;Z  

(B) JhxqIr  
(C) v’kksd  
(D) leqnzxqIr  

    

67. Who wrote “Ashtadhyayi” text of Gupta 

Era?  
(A) Patanjali  
(B) Panini  
(C) Magh  
(D) Vishakhadatta 

 

67. xqIrdky dh jpuk ^v"Vk/;k;h^ ds jpukdkj    
gSa &    
(A) iratfy  

(B) ikf.kfu  
(C) ek?k  
(D) fo’kk[knÙk  

    

68. When was the II battle of Tarain fought? 
(A) 1189 
(B) 1190 
(C) 1191 
(D) 1192 

 

68. rjkbu dk f}rh; ;q) dc gqvk\     
(A) 1189 bZ-  

(B) 1190 bZ-  
(C) 1191 bZ- 
(D) 1192 bZ- 

    

69. Who started the practice of Horse Fest? 

(A) Iltutmish 

(B) Balban 

(C) Jalal-ud-din Khalji 

(D) Alauddin Khilji 

 

69. ?kksM+s nkxus dh izFkk dks loZizFke fdlus 'kq: 
fd;k\     
(A) bYrqrfe’k  

(B) cycu  
(C) tykyqÌhu f[kyth  

(D) vykmÌhu f[kyth  
    

70. Who was the leader of Struggle between 

Mughals and Marwar lasting 30 

years(1679 - 1709) 
(A) Jaimal  
(B) Fatta  
(C) Durgadas Rathore  
(D) Gora  

 

70. ekjokM+ o eqxyksa ds e/; pys rhl o"khZ;   
¼1679 & 1709½ la?k"kZ dk uk;d dkSu Fkk\     
(A) t;ey  

(B) QÙkk  
(C) nqxkZnkl jkBkSM+  
(D) xksjk  

    

71. When did Akbar organise the Nagaur 

Darbar in Rajasthan?  

(A) 1568 

(B) 1569 

(C) 1570 

(D) 1571 
 

71. vdcj us jktLFkku esa ukxkSj njckj dk 
vk;kstu dc fd;k\     
(A) 1568 bZ-  

(B) 1569 bZ-  
(C) 1570 bZ-  

(D) 1571 bZ-  
    

72. Name the author of the book ‘Satyarth 

Prakash’ - 

(A) Raja Ram Mohan Roy  

(B) Dayanand Saraswati  

(C) Mahatma Gandhi  

(D) Jyotiba Phule  
 

72. ^lR;kFkZ izdk’k^ iqLrd ds ys[kd gSa &     
(A) jktk jke eksgu jk;  

(B) n;kuan ljLorh  
(C) egkRek xk¡/kh  

(D) T;ksfrck Qqys  
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73. Who was the founder of ‘Ramakrishna 

Mission’?  

(A) Ramakrishna Paramhans  

(B) Swami Vivekanand 

(C) Keshab Chandra Sen  

(D) Atmaram Pandurang  
 

73. ^jkeÑ".k fe’ku^ ds laLFkkid dkSu Fks\     
(A) jkeÑ".k ijegal  

(B) Lokeh foosdkuan  
(C) ds’kopanz lsu  

(D) vkRekjke ikaMqjax  
    

74. In which congress session the demand 

for full self-autonomy was made?  

(A) Lucknow Session 1916  

(B) Calcutta Session 1917  

(C) Kanpur Session 1925  

(D) Lahore Session 1929  
 

74. dkaxzsl ds fdl vf/kos’ku esa ^iw.kZ LojkT;^ dh 
ek¡x dh x;h gS\    
(A) y[kuÅ vf/kos’ku 1916  

(B) dydÙkk vf/kos’ku 1917  
(C) dkuiqj vf/kos’ku 1925  

(D) ykgkSj vf/kos’ku 1929  
    

75. Mahatma Gandhi’s ‘Dandi March’ is 

related to which movement?  
(A) Disobedience Movement   
(B) Swadeshi Movement  
(C) Non – Cooperative Movement  
(D) Quit India Movement  

 

75. egkRek xk¡/kh dh ^nk.Mh ;k=k^ fdl vkanksyu 
ls lacaf/kr gS\     
(A) lfou; voKk vkanksyu  

(B) Lons’kh vkanksyu  
(C) vlg;ksx vkanksyu  
(D) “kjr NksM+ks vkanksyu  

    

76. The first Governor of Rajasthan was - 
(A) Sardar Hukam Singh  
(B) Gurumukh Nihal Singh  
(C) Dr. Sampurnanand  
(D) Vasant Rao Patil  

 

76. jktLFkku ds izFke jkT;iky Fks &  
(A) ljnkj gqde flag  

(B) xq#eq[k fugky flag  
(C) MkW- lEiw.kkZuan  
(D) olarjko ikfVy  

    

77. The first elected Chief Minister of 

Rajasthan - 
(A) Heera Lal Shastri  
(B) Jay Narayana Vyas  
(C) Tikaram Paliwal  
(D) Mohan Lal Sukhadia  

 

77. jktLFkku ds izFke fuokZfpr eq[;ea=h cus &    
(A) ghjkyky 'kkL=h  

(B) t;ukjk;.k O;kl  
(C) Vhdkjke ikyhoky  
(D) eksguyky lq[kkfM+;k  

    

78. How many seats are there in Rajasthan 

Assembly?  

(A) 25 

(B) 50 

(C) 100 

(D) 200 
 

78. jktLFkku esa fo/kkulHkk dh dqy fdruh lhVas 
gSa\    
(A) 25 

(B) 50 
(C) 100 

(D) 200 
    

79. Where is Rajasthan Public Service 

Commission located?  
(A) Alwar  

(B) Ajmer  

(C) Jaipur  

(D) Jodhpur  
 

79. jktLFkku yksdlsok vk;ksx dgk¡ vofLFkr gS\     
(A) vyoj  

(B) vtesj  
(C) t;iqj  

(D) tks/kiqj  
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80. The first woman governor of Rajasthan -  

(A) Shrimati Sumitra Singh  

(B) Shrimati Vasundhra Raje  

(C) Shrimati Pratibha Patil  

(D) Shrimati Sheela Dixit  
 

80. jktLFkku dh izFke efgyk jkT;iky cuh &     
(A) Jherh lqfe=k flag  

(B) Jherh olqa/kjk jkts  
(C) Jherh izfrHkk ikfVy  

(D) Jherh 'khyk nhf{kr  
    

81. The first woman speaker of Rajasthan 

Vidhan Sabha - 

(A) Shrimati Sumitra Singh  

(B) Dr. Girija Vyas  

(C) Shrimati Vasundhara Raje  

(D) Shrimati Sudha Srivastava  
 

81. jktLFkku dh izFke efgyk fo/kkulHkk v/;{k 
cuh &     
(A) Jherh lqfe=k flag  

(B) MkW- fxfjtk O;kl  
(C) Jherh olqa/kjk jkts  

(D) Jherh lq/kk JhokLro  
    

82. Who amongst the following served for 

maximum period as the Chief Minister of 

Rajasthan?  
(A) Jay Narayan Vyas  
(B) Harideo Joshi  
(C) Tikaram Paliwal  
(D) Mohan Lal Sukhadiya  

 

82. fuEu esa ls dkSu lokZf/kd le; rd jktLFkku 
ds eq[;ea=h jgs &    
(A) t;ukjk;.k O;kl  

(B) gfjnso tks’kh  
(C) Vhdkjke ikyhoky  
(D) eksguyky lq[kkfM+;k  

    

83. When was the secretariat of Rajasthan 

established?  
(A) 1947 
(B) 1949 
(C) 1950 
(D) 1952 

 

83. jktLFkku esa lfpoky; dh LFkkiuk dc dh xbZ\  
(A) 1947 bZ-  

(B) 1949 bZ-  
(C) 1950 bZ-  
(D) 1952 bZ-  

    

84. Who is the administrative head of the 

government secretariat in Rajasthan?  
(A) Chief Secretary  
(B) Chief Minister  
(C) Administrative Secretary  

(D) Autonomous govt. Secretary 
 

84. jktLFkku esa 'kklu lfpoky; dk iz’kklfud 
izeq[k gksrk gS &    
(A) eq[; lfpo  

(B) eq[;ea=h  
(C) 'kklu lfpo  
(D) Lok;Ùk 'kklu lfpo  

    

85. When was the ‘Lokayukt’ established in 

Rajasthan?  
(A) 1966 
(B) 1969 
(C) 1971 
(D) 1973 

 

85. jktLFkku esa yksdk;qDr dh LFkkiuk dc dh xbZ\ 
(A) 1966 bZ-  

(B) 1969 bZ-  
(C) 1971 bZ-  
(D) 1973 bZ-  

    

86. In which section of the Indian 

Constitution is described the 

Constitution of State Public Service 

Commission? 
(A) Section – 310  
(B) Section – 315 
(C) Section – 324 
(D) Section – 280 

 

86. jkT;ksa esa jkT; yksd lsok vk;ksx dk xBu 
Hkkjrh; lafo/kku ds fdl vuqPNsn esa of.kZr gS\  
(A) vuqPNsn & 310  

(B) vuqPNsn & 315 
(C) vuqPNsn & 324  
(D) vuqPNsn & 280  
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87. The present chairman of the Rajasthan 

Public Service Commission - 
(A) Mr. Deepak Upreti  
(B) Dr. Radheshyam Garg  
(C) Mr. S.S. Sharma  
(D) Dr. Lalit Panwar  

 

87. jktLFkku yksd lsok vk;ksx ds orZeku v/;{k 
gSa &     
(A) Jh nhid mizsrh  

(B) MkW- jk/ks’;ke xxZ  
(C) Jh ,l-,l- 'kekZ  
(D) MkW- yfyr iaokj 

    

88. The present Chief Secretary of   

Rajasthan -  
(A) Mr. O.P. Meena  
(B) Mr. Ashok Jain  
(C) Mr. N.C. Goal  
(D) Mr. D.B. Gupta  

 

88. jktLFkku ds orZeku eq[; lfpo gSa &    
(A) Jh vks-ih-eh.kk  

(B) Jh v’kksd tSu  
(C) Jh ,u-lh- xks;y  
(D) Jh Mh-ch- xqIrk  

    

89. President Tenders his resignation to - 
(A) Chief Justice of the Supreme 

Court  
(B) Prime Minister  
(C) Vice President  
(D) Speaker of Lok Sabha  

 

89. jk"Vªifr viuk R;kxi= fdls nsrk gS\ 
(A) loksZPp U;k;y; ds eq[; U;k;/kh’k  

(B) iz/kkuea=h  
(C) mijk"Vªifr  
(D) yksd lHkk v/;{k  

    

90. The unopposed elected president of  

India - 
(A) Neelam Sanjiva Reddy  
(B) K. R. Narayanan  
(C) Pranab Mukherjee  
(D) Giani Zail Singh  

 

90. “kjr ds os jk"Vªifr tks fufoZjks/k fuokZfpr   
gq, &     
(A) uhye latho jsM~Mh  

(B) ds- vkj- ukjk;.ku  
(C) iz.kc eq[kthZ  
(D) Kkuh tsy flag  

    

91. Which Prime Minister did not face Lok 

Sabha? 
(A) V.P. Singh  
(B) Chaudhary Charan Singh 
(C) H. D. Deve Gowda 
(D) Inder Kumar Gujral 

 

91. “kjr ds fdl iz/kkuea=h us yksdlHkk dk lkeuk 
ugha fd;k\    
(A) oh-ih- flag  

(B) pkS/kjh pj.k flag  
(C) ,p-Mh- nsoxkSM+k 
(D) bUnz dqekj xqtjky  

    

92. Who served as the Prime Minister of 

India for maximum period?  
(A) Smt. Indira Gandhi  
(B) Jawaharlal Nehru  
(C) Atal Bihari Vajpayee 
(D) Manmohan Singh 

 

92. lokZf/kd vof/k rd Hkkjr ds iz/kkuea=h in ij 
jgs gSa &     
(A) Jhefr bfUnjk xk¡/kh  

(B) Jh tokgjyky usg:  
(C) Jh vVy fcgkjh oktis;h  
(D) Jh eueksgu flag  

    

93. Who can summon the joint session of 

Parliament? 

(A) President  

(B) Prime Minister  

(C) Speaker of Loksabha  

(D) Vice President  
 

93. laln ds la;qDr vf/kos’ku dks dkSu vkgwr djrk 
gS &  
(A) jk"Vªifr  

(B) iz/kkuea=h  
(C) yksd lHkk v/;{k  

(D) mijk"Vªifr  
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94. According to section 81 of constitution, 
the maximum number of members can   
be - 
(A) 543 (B) 545 
(C) 550 (D) 552 

 

94. lafo/kku ds vuqPNsn 81 ds rgr yksdlHkk dh 
vf/kdre lnL; la[;k gks ldrh gS &     
(A) 543 (B) 545 
(C) 550 (D) 552 

    

95. The Lokpal and Lokayukt model of India 

is inspired by which motivation?  
(A) Mukhtar System of Russia  
(B) Swedish Ombudsman  
(C) British Notary Public  
(D) Japanese Procuratorate  

 

95. “kjr esa yksdiky & yksdk;qDr ekWMy] dkSulh 
laLFkk ls izsfjr gaS\     
(A) :l dh eq[rkj O;oLFkk  

(B) LohfM'k vEcqM~leSu 
(C) fczfV'k uksVjh ifCyd 
(D) tkikuh izksD;wjsVksjsV  

    

96. The social activist who led the movement 

for an effective Jan Lokpal institution in 

India-  
(A) Aruna Roy  
(B) Baba Ramdev  
(C) Anna Hazare 
(D) Sunder Lal Bahuguna 

 

96. “kjr esa Hkz"Vkpkj eqDr 'kklu dh LFkkiuk djus 
gsrq ,d l’kDr tuyksdiky laLFkk dk dkuwu 
cukus gsrq fdl lektlsoh us vkanksyu fd;k\     
(A) v#.kk jk;  

(B) ckck jkenso  
(C) vUuk gtkjs  
(D) lqanjyky cgqxq.kk  

    

97. Who does the job of a coordinator in the 

formation of public policies by various 

Departments of Secretariat?  
(A) Prime Minister’s office  
(B) President’s Secretariat  
(C) Cabinet Secretariat 
(D) Planning Commission  

 

97. dsanz Lrj ij yksd uhfr;ksa ds fuekZ.k esa 
lfpoky; ds fofHkUu foHkkxksa esa lEkUo; dk 
dk;Z dkSu djrk gS\     
(A) iz/kkuea=h dk;kZy;  

(B) jk"Vªifr lfpoky;  
(C) dSfcusV lfpoky;  
(D) ;kstuk vk;ksx  

    

98. The present Chairman of Union Public 

Service Commission - 
(A) Arvind Saxena  
(B) Vinay Mittal  
(C) David Reid Syiemlieh 
(D) Deepak Gupta  

 

98. la?k yksd lsok vk;ksx ds orZeku v/;{k gSa &     
(A) Jh vjfoan lDlsuk  

(B) Jh fou; feÙky  
(C) Jh MsfoM jsM flfEyg 
(D) Jh nhid xqIrk  

    

99. Union Public Service Commission 

presents its annual report to - 
(A) Prime Minister  
(B) President  
(C) Loksabha Speaker  
(D) Home Minister  

 

99. la?k yksd lsok vk;ksx viuk okf"kZd izfrosnu 
lkSairk gS &     
(A) iz/kkuea=h dks  

(B) jk"Vªifr dks  
(C) yksd lHkk v/;{k dks  
(D) x`gea=h dks  

    

100. The outgoing cabinet secretary of govt. 

of India is - 
(A) B.K. Chaturvedi  
(B) K.M. Chandrasekhar  
(C) Ajit Seth  
(D) P.K. Sinha  

 

100. “kjr ljdkj ds fuorZeku dsfcusV lfpo   
gSa &     
(A) Jh ch-ds- prqosZnh 
(B) Jh ds-,e- panz’ks[kj  
(C) Jh vthr lsB  
(D) Jh ih-ds- flUgk  

    

----------------------------------------- 


